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: 1. A thin wive is bent nto a
#@-070) o and u%iformﬂ” clcarﬂecl K'vi’ol’aﬂ Clt&f‘gQ —-‘6..

mass m and ckarﬂe +§ As Foacea ot the exacl cailer of the
vanq. If this raoinf cl‘arﬂe Is d-'sr()acec\ Pre,c_“sel): vertially, but

on[)l s*l.‘jh'tl/ (g‘<<a), -f—rom. tthe Cel.tt_er and v‘e'ea.secQ, vy ‘*"'“

oscihlate abeoul the cevnker Po?vtt. : ,
W Fud the electvic f&eu E ot the ro;n«T chavae. Lor z<< @,
D) \/erify that the en.SuivL\!] motaen is tHiod of a sfutj)'e lharmontc

osci UWeler and *Fw'ud the -Fretbu.euc] W of the oser Welion .

(2- A charge ¢ revolies An The x—y plane around £ axis, aQoMj a

%) Cipewlar orbix of radius a, ol constal avgukar \).erc:l'l) .

@) Use Bist-Saverts flaw G -Fx‘ucl He qume‘[C-c'fm‘elA T’?(i’,‘t’) aion\r}
the Z-aus., ( Note: Ial = qT, d=wt) |

b) Fnd the time e\\)e_md»e of s mag netie F[g(’d < W(m-t)? (meainiuﬂ
the Fime —vtegral of H over one period, divided by thal perded)
gtua\‘@tllrare it with F on The Z axs o-Facirchcxv‘ loor of .

Currevl’ I iy the X-y rlnue , of veduus a.

3, Twe Qauf e m((nQ ukmoar C,m(.(uctu{xj I:ch‘es are seramTec{ b)/ o
() honc«mduc‘m&j dielectrie witlh remfa‘f{v(f)’ € and /'Jermeab.‘lii'] AL,

Tte Ph‘tes ove close Quouﬂh such that the -Friu\()CMJ (s h?ﬂ(ected,
Sularos‘e_ ot am electite F.‘elc\ (s ﬂa‘Uen to be —E_»= £, sin ovt a;

between the rQofes,
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@ Frow ¢\)c\l,ua‘t£n3 ‘ﬁﬁvc\—f, where C is o (wvijotﬂ'ct[ circle of tj?*jzt
¥

radcus §, centered on Hie Z aeis, inside the anfeg) find _I:"Cf);{‘

b Frem Max well'a e(ﬁucitfon TxE = —AL %1%-  what does s say
obout the tiwe -—cl:zj;endence of Fr 7 What does the answer of
Q of F‘T ?2 .

Po.,r"t ) su)l obout tie ’h“ute-—c\ereudeuc
wWhat is wrong with the

©) Discuss the Anceonsi steny wm lx:.r‘t ).

ai\lew E? ' »

4. A Miform rlane wave ka.viuj the electric fiald
k) B®=E{a ~B 7 )eos [eot _tom(Fx + )] 1—6; E sin[wt ~\ow(\f‘3‘x+i)]
e lvd,’evfc\ce. between {:ree space aind cLAielectrLE

is wmecident on th
wedx‘um of wiknown €. and AL = At
@ Fuud the fve,%weuc] ond waUeleWJﬁ« of the incideut wave,

o) Find the value DF €, Hfor which the vefkec'tec( wave s la‘ue&rl)/

?oQarf.Jth-
© For the -fqu value of & w ), fond the QxFPeSSCons of Ew) for
tlie veflected at_»\d the transmitted uwaves. "
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5. @-) From Maxwells e$u.o.‘k'\ons derive the wave ersuqhon for the vec‘t'o_;
".
(22 vwaﬂue*hc potential A, 7.
A - M€ —2;?; =—uT,
under the Loremfj ﬂauje, condition v A -——Mé"é%
®) Deacribe the reaSom.uj (nst' the FmO-P) fhat the Solutton of Huz ahove

equation s
b MTER -8 ) ok R=\F’—‘?”| U=
A (V%) = o TR av’ ere , JAE |

CDMI)MGJ. with the static case.
the Z axis o v\ac'hco.Q antenna, show that

© Pra c,u.rr‘eu\t_o,loug
distant fcew- (-{r t‘e(u«) is

| .o 2A
MH¢== —sinb -5-‘;_5- , when oﬂ/ the

considered .




